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B.A. I Semester Degree Examination, March/April - 2023

ECONOMICS
DSC-2 : Indian Economy
(NEP)

Time : 2 Hours Maximum Marks : 60

Note : Answer all sections.

TR © DER DEGINIT %%dgz SVI3OA.

SECTION - A / o0 - &

Answer the following sub-questions. 10x1=10
3ENT WT-TFNOR LOZOR.

1. (a) What is Liberalization ?
VTIDOCBTED DOTTERD ?

(b) What is Monetary Policy ?
TEOTORAT VS DOTITER 2

(c) Expand HDI.
HDI QF0R&.

(d) In which Country the Covid-19 firstly appeared ?
3R —19 Beensy 03w SEEAY) WRTED BOWWOI ?

(e) What is Balance of Payment ?
TOTOOR 2308 DOTITED ?

(f) Define public debt.
TOBERIT AOOWR, WRATVIR.

(g) What is income inequality ?
STOONT WAWITZ DOTTEI ?

(h) What is Budget ?
TNONTTZ, DOTTED 2

(i) Expand MGNREGS.
MGNREGS Q%0%.

(j)) Who is the Chairman of 15t finance commission ?
15 3¢ TEBORD SO3RENT ZITO 03D 2
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11.

12.

SECTION - B / Q%R — X
Answer any four of the following questions.
FINT CIRRTRW3R Ty, TJNON GOIOA.

Explain the causes of increasing public expenditure in India.

$O0BTY ToTEWAT 5?,;3 éa;ﬁ%é TOTEONTI), DWOR.

Explain the characteristics of demographic dividend.
uaﬁsomé @OpIaplerin @gm@sa& DWOA.

Explain the causes of Agrarian Crisis.

T WL TOTEOTOMT WOINYRY, DWOA.

Explain the importance of Micro, Small and Medium.
mge, ms@a BB 53;35?33 SSANDI U‘odémﬁ%f mag@@i QTOA.
Explain about the smart city mission in India.
PRTBTY AREFF A NRT 21} DTOR.

Explain the objectives of Fiscal Policy.
ansééwes QeSoP cﬁéeo:'irae53(/_36571%3:;30l DWOA.

SECTION - C / Q%o — 2

Answer any three of the following questions.
TSN CIRVF)TOWTR TR @%ﬁ@ﬁ YOBOR.

Explain the objectives of Monetary Policy in India.
ERTBTY TOTVRY VS0 m%@éﬁ@@c& QDTOA.

Explain the impact of LPG on Indian Economy.
HOT3T BHFIZODN weS LPG oD TOFOTNTT, DWOR.

Explain the factors causes for urbanization in India.

5TBTY 5?1@@668@@ FOTEOITIVNOE WOSNFR), DTOR.

Explain the role of Multinational Companies in Indian Economy.
PO0TT SHFFTIONY WTDTIREOD AINTNY TOTTJI), WTOA.
=

Explain the 2000 national population policy.
2000 T Toeod &BIBOTY, DeSONTY, D|WOX.
=
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